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1. (2x4=8)

O O OFK @O
2. (61H)

1+3+5+7+9+11+13+15+17+19=10x% 10

[1=10
3. (4x2=8)
® (9, 18 27) @ (15 30, 45)
4. (4x2=8)
@® (10, 20, 30) @ (24, 48, 72)

5.(3%x2=6/%)
® (24 @ (36)
6. (61)
(IA. 2A. 3A. 6 A, 9A. 18A)
7. (X6 M+E40=1051)
(R) 6 & 8 DE/IAMERIL., 24
(24+6)x(24+ 8)=4 x 3=12
% (1280)
8. (611)
2L 24D KERI % (8 N)
9. (X6 m+&4m=10:)
(FH) 1m?*H72) OHNETL bRETF,
64+50=1.28
109 +80=1.3625 % (WHLEA)
10. (X6 M +%53 0 x 2=125)
(3%) 78300+ 135=580
61100 + 94=650
% A (580AN) Bili (650A)
1. (D@&d A3 H+E3H=5/124)
©  (54+56+58+62+60) ~ 5 =58 % (58g)
@ 58%50=2900 (¥73000) % (# 3kg)
12. (4 x 2=8 1)

@O 7+4=17 @ 5+ 7=0.714285""
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1. (10x0)

3. (R6m+544=104)

i

2‘“’* = 15m--

(X) 16:X=24:15

X =15%1.6+24=10
4. (4 E+4 5 +%4 5 =125)
1 /100007 % # L &

% (10m)

g —

(%) 3 x1000=3000 (cm) % (30m)

5. (@B M +42H=5310x)

@ 7200+ 8 =900 % (4#900m)
@ 240+15=16 % (B#16m)
6. (D& HAI M+ %21 =511057)

O 40x 3=120 % (120km)
@ 55x%10=550 % (550m)
7. (D@k L3+ 2 M =57110%)

@D  600+24=25 % (25F%)

@ 100+40=2.5 % (2 WEI3055)
8. (D@L A5 M +45 =520

O (3+6)x4+2x8=144

2 (144cmd)
@ 4x4x314+2x7=175.84

% (175.84cm?)
9. (N5 +%3n=8x)
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